
Solve the multiplication calculations in the picture. 
Colour the picture by matching the answers to the 
colours in the table. If parts of the picture do not 
contain a calculation, leave this white.

Merry Christmas

20-30 red

31-40 yellow

41-50 purple

51-60 brown

61-70 orange

71-90 dark green

91-110 light green

9×11

7×8

10×6
6×10

9×8

12×8
6×9

9×11

6×6

9×9

7×11 12×9
11×7

9×9 9×10
7×11

6×12
9×12

5×7

12×6

12
×7

9×118×7
6×12

6×9

8×7

8×99×3
4×8

3×
8

9×12

9×4
7×11

12×5 9×6
7×8

6×9

12×6

10×10

9×8

6×4

8×5

7×4

4×12 7×7

10×7

7×6 9×10

12×3

9×126×12

7×3

9×99×811 ×
 7

8×1011×9

9×
6

9×9

8×12

5×12
8×8

11×5

12
×7

8×12

12×8

10×6 5×11

12×5

6×9
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Merry Christmas

7×5
7×3

11×6 7×10 7×9 8×8 9×7

8×8

8×10

7×11
11×11

10×12
11×11

12×10

8×12
10×12

12×10

8×6
6×85×9

9×9 9×10 12×7

9×
9

7×
12

7×7 6×7 5×9
9×3

4×7
3×124×9 8×4

3×8

4×8 8×5

12×310×3

7×9
9×6

12×5

12
×68×7

8×
10

8×12

12×9

10×11
7×10

8×9

9×8

7×11
8×9

10×8

9×7

8×9

10×88×8

7×10

7×9
8×9

10×8
11×6

10×8

6×
12

12×6

12
×6

7×9

Solve the multiplication calculations in the picture. 
Colour the picture by matching the answers to the 
colours in the table. If parts of the picture do not 
contain a calculation, leave this white.

20-30 purple

31-40 light blue

41-50 yellow

51-60 green

61-70 brown

71-80 orange

81-90 black

91-121 red
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Merry Christmas
6×6

6×5

6×8

3×9

3×9

7×3

4×9

1×12
2×7

8×3

11×5

6×9

8×7

7×82×7

12×8
3×5

11×10 12×10 11×10 10×12

9×9

6×4

3×7

12×3

4×6

9×4

6×4
9×5 9×5

7×6
3×9

4×7

9×3
7×9

7×9

7×9

7×9

6×11

6×11

6×116×11

6×11

7×9
2×7

2×9

9×12

9×12

11×6
9×7

9×7 9×78×8

7×9

8×88×8 7×10

6×12 8×9

10×8

12×5

12×6

8×8

12×6
8×8

8×9

11×7
8×9 12×6

2×9

9×
3

11×1

8×3
4×8

Solve the multiplication calculations in the picture. 
Colour the picture by matching the answers to the 
colours in the table. If parts of the picture do not 
contain a calculation, leave this white.

11-20 purple

21-40 pink

41-50 red

51-60 yellow

61-80 green

81-100 blue

101-110 orange

111-120 brown
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